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— 972Y KD RI9992) 972Y N2AR92T RIIMAT RN RI1T 20 771
And X177 29 admits concerning the shops of X% since they function
by day and do not function at night

OVERVIEW

The X713 stated that X117 27 admits that X177 XN do not require consecutive
years of 7P, since they do not function at night. It is not clear from the X723
whether the 711 of X7 XM can be accomplished in a total of three daytime-
only years (as by fields, etc.), or six daytime-only years are necessary to establish a
717 (similar to *aR2 °7217 *nXR). Our MdOIN will be discussing this issue.

— MANION NIN MOINT WHY INDT 22 5Y N DIV 73 9951h N BN B1Y 99 'wia
The explanation as to what X177 27 admits to, is that it validates the npmn for
them if they possessed the shops for three complete years and even though

these three 711 years are not consecutive but rather spread out over six years

since the nights are not included; nevertheless it is a valid 7p —
— 2IN2 929199 Y9N N7 2N INNIINT 11D

Since it is their customary way of conducting business; to be open by day and
closed at night, for this is similar to the places where the farmers allow the fields

of the valley to lie fallow. The requirement for 7pm there is three planting seasons (five
[six] years). Similarly here too, it is a 7P if they worked there six years of days. X117 27 requires
mo1¥7 221w 3 only when the normal usage of the land/property is in a consecutive and continuous
manner.

mooIn asks a question:
— N3 23) DYY 799975 NN 29 NTINT NVIW 15 ONX AN DN

And if you will say; if this is so that the customary usage is only by day (and it
requires a six year P11 of days), then it is obvious that X137 29 agrees that it is a

valid 7P, as the X723 asks previously concerning the 7P in a valley, where it
was customary to have the land lie fallow on alternating years. The X723 there asks X wd that it
will be a P11 if he had it for three planting seasons. Why does not the X713 ask the same question

' When mpon uses the term w0’ it generally indicates that he is disagreeing with some other interpretation. Here
mooin is disagreeing with those [see (7771 7"7) 0"2w7] who maintain that three daytime only years are sufficient to
establish a 7P by XMnnT XN,
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here concerning 811117 XN1Ir; it seems identical to the XaR2a *7217 *INR?!

N1D0IN answers:
— N2°92) ©Y°2 122 )N2 DT OINMIN DIONY DTN 22V 9D 9127 U

And one may say, that the reason that it is not a X0*wd that six years of day mpim
are considered n121X7, is since the people of Xnn» who are not shopkeepers

dwell in the same type of buildings both in the day and in the night -
— 1999 B MAINI DNV /) D98 JNIN)

And those people, in order to make a P11 on their properties, are required to live

there three consecutive years by day and by night —
— 15 9RWn K 19 199085 ) DINMINT PNYT NPYD)

So it would enter our minds; we might have assumed that the shopkeepers
should have the same requirement to be there three consecutive years by day and
by night; and not be permitted to establish a 711 through six years of daytime

occupation only, therefore the X713 comes to let us know, that in the case of xnum
X1nnT six years of daytime occupation is considered a proper 7pIm.

moon will now explain why the 7P of XNnnT XM is six daytime years and not merely three
daytime years:

— DY /1139907 MNDY DY YHY 1ND 19¥aT 99V INN NNIYD INNNDI
And from this very same logic (that others live in the same houses for three
continuous years) it is well understood that we require of them three complete
years which means six years of daytime 7P, and it is not sufficient to merely have three
years of daytime 7P —

—551 12 £V WHY NN 19°¥3 XY 02720 1’2 MTYWAT ) Y 9N

Even though that by fields and olive presses we only require three years total,
even though the 2°7277 n°21 MW are not functioning continually for three years without a stop.
Why is it that by XnnnT Xnn three complete years (six years) are required?—

* This seems to be the same answer the X113 gives by X2 *12m7 *INX to explain that it is not Xv*wd (that three
alternate years are sufficient), since there are those who are not *X2 121 and always plant their fields. The reason
the X713 here does not ask Xv"ws and give the same answer is, because by X1 XN it is self-understood that there
are many people who live in X1rn and are not shopkeepers. There is no need to inform us (by X7 ¥Min) that we
are discussing a particular situation. However by %2 >72w the original assumption was that all were &2 720n.
Therefore there is the question of Xv*w», and the subsequent answer that we are discussing a particular situation of
72 RPT X' 21217 XK. See, however, ‘Thinking it over” # 1.
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mooIn explains:
—N9592) 012 DY /) 1Y DIMN PRY DV D970 DTN 22 INY 1197 DIVN 1391 (NIN)

The answer is because just like the other people who dwell there in X112 who
are not shopkeepers; when they need to make a 7P they are required to live
there for three years by day and by night —

— 02V 71199907 HMPLY DY /) 19 DININ ) Y9N
It is the same also by shopkeepers; they require a 7717 of three complete years
which is six years of daytime 7pm. The fact that the Xmin do not function at night exempts
them from the rule of m»1¥A, but does not exempt them from the requirement of M»ow.

mooIn anticipates an additional question:
— NN 29 D71 223 DP¥0 XA NN NI NN

And the reason the X773 did not cite this ruling (of X177 27 777m1) previously by
the previous Ri177 29 7771 (concerning X2 ™27 *nX). It would seem that the two 21 777
X177 should have been taught together. However after the first X177 27 771, the X3 went on to
discuss a different issue and inserted there XUV A 77 (or X271 77M1) and only after this
intermission does the X713 cite this second X117 27 7711, Seemingly the two X117 27 7711 should
be together without any interruption [of the other 7771'].

mooin replies:

— 2T NOINYNIY XPYD NDT DIVN DN 13%29 99N
The n''s says that the reason the X ) did not mention this X7 27 779
immediately, is because the discussion of houses did not arise (and was not
concluded) as of yet. It was necessary to first establish that houses require 77°221 012 w"x np1m;
otherwise even XnnnT XN would not require six years. Once the X713 ascertained that 0172 w")
77°921 are required, the discussion of houses continued with the statements of X0 7% and X239
clarifying the rulings of 79921 012 w"x Then after concluding discussing houses, the & 13 stated
this last X117 27 770,

mooin offers a similar example:
271915 299 090 Y1) 23 (3,80 7 xnp x23) [D19] 9102 RN N NN )

And there is a similarity to this in the end of 211277 P95 concerning the mwn
which states that the 2%»sm admit to 5''9, etc. This admission of the 272m to >"7 is not

3 The mwn there first cites the nPonn between o3 *" if WRA 1ML is 7wS or not. Following this np1?nn the mawn
cites other unrelated 0°1°7 in which there is no np12n72. The 71wn concludes >"1% 0120 171 that there is a case where
WX 0L is 27
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cited immediately after their np17nn, but rather the miwn first discusses there other issues (in
which there is no N7 between the 2°nar1 and ", and) which do not seem relevant to the Y7127
We can derive from there that occasionally a "Y' can somewhat be postponed.”

SUMMARY

A 7P In RTIMNAT XM requires six daytime years, as opposed to a regular field, etc.
which requires only three (daytime) years. Three complete years are required by
X7 XN since other homeowners require three complete years as well.

THINKING IT OVER

1. If we are to assume the explanation offered in footnote # 2, then, a) why does
MooIN even ask that the X713 should have asked Xv*w», when the answer is obvious,
and b) why indeed does the X3 have to teach us the second 777121 by XnnnT Xnam,
seemingly we can derive it from the first X137 27 77721 by %aR2 "121n?

2. Why is 9010 so sure that X107 27 requires six years by Xnnn7 Xmin; from where
does he derive it?’

3. It seems from MpoIN that if there were only shops in Xnnn then three daytime
years would be sufficient. However by XiX2 *721m7 20X even if everyone is 77217,
nevertheless three planting seasons are required. How do we explain this
difference?’

* This is certainly true in our case where N0 offers a reason for the postponement (as opposed to the mwn in
o11577).
3 See (10 M) 7"210 X" W
% See (3w MKX) >"72. This may also explain # 1.
4

TosfosInEnglish.com



